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Question ID:- 1051
Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders
of five different cities A-E. Some of the data in the table is in percent (%) while some data is in
numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35 %
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38 % 32 % 4200

Fafafaa aifes & A @ E 90 & g g3 & goul, afgans ok ciosisd & deuf #f SwRien &1 26w - IR sRT
1tar T 81 39 aifereT § 90 ies ufaRd (%) H €, 9afe o0 siies I § §1 39 aiferer # Ry e sfiwsl &
SMYR TR - feu 7w usi & Iww difore :

SEBAT BT e - IR SRT

T STESAT BT RT
o0 [ |oed
45 %] 30 % | 2,000
50 %] 3,000 | 35 %
8,000| 35% | 15 %
45 %] 3,600 | 25 %
38 %| 32 % | 4,200

m|io|o|w|>

If the ratio of literate males to illiterate males of City 'D' is 11 : 7. then what is the difference between the number of literate males and number of
illiterate males of City 'D'?

e AEW - 'D’ & FRER TEU Bt ga-1 § WIeR T BT SUTd 11:7 B °l R - 'D' & WIER TIU R FReR gout 3t Jen & fa wn s 8 2
Options:-

=900, Option ID :- 4201,

« 1050, Option ID :- 4202,

= 800, Option ID :- 4203,

« 1200, Option ID :- 4204,
Answer Given:- 1050, Option ID : -4202

Question ID:- 1054

Based on the data in table, answer the five questions that follow:
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The following table shows the break-up of population in terms of males, females and transgenders
of five different cities A-E. Some of the data in the table is in percent (%) while some data is in
numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35 %
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38 % 32 % 4200

fFafafaa oifteT § A 3 E a9 & g el o goul, afters ok goisyd & deyf # S-Rien &1 WeR - IR &RT
ST T 81 39 AT H 5 Sfidps Ula=id (%) ® 8, 9afe 30 sivs wen A €1 39 aifeed # 2y v siwst &
ATYR R H 3w 1T welf & IR v :

SRS BT WEY - 9R SRT

TR SIS BT RT
v e | s
A [45°%] 30 % | 2,000
B |50 %] 3,000 | 35 %
c [8,000] 35% | 15 %
D |45 %] 3,600 | 25 %
E |38%]| 32% | 4,200

Find the ratio of transgender population of City 'C’ to the transgender population of City 'D'?

TMEX - D P TASSY TS B AT # EX - C Pl TGS TAHGT BT JUTd Ia13¢ ?
Options:-

=4:05, Option ID :- 4213,

= 5:04, Option ID :- 4214,

= 3:05, Option ID :- 4215,

= 2:05, Option ID :- 4216,
Answer Given:- 3:05, Option ID : -4215

Question ID:- 1053
Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders
of five different cities A-E. Some of the data in the table is in percent (%) while some data is in
numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35 %
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38 % 32 % 4200
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fFafafea it § A 3 E a9 & g el o goul, afters ok gisyd & deuf # SRier &1 WeR - IR &RT
ST T B 1 39 AT § 8 s Ula=id (%) ® 8, Wafd 70 sivs wen A €1 39 afedr ¥ 3T v siws)
YR R 1 3T 1T uelf & IR v :

ST BT WEY - 9R SRT

&

T STEEAT BT SRT

45 %] 30 % | 2,000
50 %] 3,000 | 35 %
8,000| 35% | 15 %
45 %] 3,600 | 25 %
38%| 32% | 4,200

moo|w|>

Male population of City 'E’ is how much more than female population of City 'A'?
TER - A B ARAT ST FT AT | 6T - E B[OV ST ot 34w § 2
Options:-

2900, Option ID :- 4209,

=« 2840, Option ID :- 4210,

= 2980, Option ID :- 4211,

= 2920, Option ID :- 4212,
Answer Given:- 2920, Option ID : -4212

Question ID:- 1052

Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders
of five different cities A-E. Some of the data in the table is in percent (%) while some data is in
numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35 %
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38 % 32 % 4200

ﬁgﬁfr@amﬁAﬁEwﬁmmﬁﬁwﬁ,m&ﬁaﬁvm%ﬁaﬁﬁmmw-maﬁﬁ%

ST T4T B 1 39 AT A 9 e ulavid (%) ® §, Wafd oo sivs wen A €1 39 afesr # e v 31
YR W 9 fow 7wyl & I difoe :

SESAT BT e - IR SRT
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MR TG BT RT

—A—45 %| 30 % 2,000
50 % 3,000 35 %
8,000 35 % 15 %
45 %| 3,600 25 %
38 %| 32 % 4,200

m|OjO|®

Female population in City 'C' is how much percent less than the sum of male and transgender
population of City 'D'?

IMER - D B TV 3R CiOvisy FHEG & TN &I ga-T § WX - 'C' B Afigen =i fha ufoxa #0 8 2

Options:-

W 25%

Option ID :- 4205,
33%%

14
Option ID :- 4206,

u 20.% ’

Option ID :- 4207,
2

. 565,{3,

Option ID :- 4208,

1
33 =%
Answer Given:- 3 , Option ID : -4206

Question ID:- 1050
Based on the data in table, answer the five questions that follow:

The following table shows the break-up of population in terms of males, females and transgenders
of five different cities A-E. Some of the data in the table is in percent (%) while some data is in
numbers.

City-wise Break-up of Population

City Population Break-up
Males Females Transgenders
A 45 % 30 % 2000
B 50 % 3000 35 %
C 8000 35 % 15 %
D 45 % 3600 25 %
E 38 % 32 % 4200

fFafafa aifteT & A I E a9 & g el o goul, aftens ok giioisd & deuf # Sien &1 WeR - IR &6RkT
AT T B 1 39 AT H 9 sfids Ulawid (%) ® §, 9afe 30 sivs wen A €1 39 aiferer # e v siwst &
YR W 9 few 7 uyi & I difore :

SRS T WEY - IR SRT

ARSI BT SRT
Y | oS
45 %] 30 % | 2,000
50 % 3,000 | 35 %
8,000 35% | 15 %

0O W >
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D [45 %] 3,600 | 25 %
E [38%]| 32% | 4,200

Population of City 'C' is what percent less than the population of City 'B'?
TMER - 'B' B ST B g1 e - 'C P oG E fha vfama sH E 2
Options:-

=30 %, Option ID :- 4197,

= 25 %, Option ID :- 4198,

= 20 %, Option ID :- 4199,

» 17.5 %, Option ID :- 4200,
Answer Given:- 17.5 %, Option ID : -4200

Subject : GP_Set2_SHIFT2_B

Question ID:- 1094

Given below are two statements
Statement I: According to National Education Policy (2020) the Gross Enroliment Ratio (GER) is to be enhanced to 50% by 2030.
Statement II: Distance mode education is going to play a crucial role in enhancing GER in India.

In light of the above statements, choose the most appropriate answer from the options given below

fTRAvuTRTME:

FYF - | : AP g A (2020) F FTIAR TH AHIGT U (S.E.3M1R.) FY 2030 T 50 Ufarra wafta faar smar 31
FYT - Il : R AT e yRa & ... F "ot § v Agaypt YT Pt

IugF FUAl F ereis #, Frafafed e § & 9ad Suged W A

Options:-

«Both Statement I and Statement II are correct
$YF I 3R II 341 I8 €1, Option ID :- 4373,

= Both Statement I and Statement II are incorrect
$YF I 3R II &1 Tad 21, Option ID :- 4374,

= Statement I is correct but Statement II is incorrect
HY= I & 8, fb=g Y 11 7Iad 81, Option ID :- 4375,

=« Statement I is incorrect but Statement II is correct

$Y I T4 8, fb~ FUT II 9 81, Option ID :- 4376,

Answer Given:- Both Statement I and Statement II are correct
PYF I 3R II SH1 J&1 €1, Option ID : -4373

Question ID:- 1055

A newly joined teacher was maltreated in his/her first class by some students. Which of the following measures should be taken by him/her?

% 9 - (e Srus & ATy ITS gl BT W g 55 Ol gRT gaideR fban wan) Fafafad ° 3 w9 a1 Sura 39 se | | 9ifey 2
Options:-
= Give punishment to the students.

faenfiaY %1 gus 1 =1fRWI, Option ID :- 4217,

= Ignore the instance and improve his/her qualities for explaining the concept in better way.
I T W A 7 IR 3 vy (F19g) & = 3G 30 o # R +ft ot st ave & gur @ Tnfuy,
Option ID :- 4218,

= Change his/her time-table to teach some other class.

ot o e & SreaTu 8q Srae wHy - |ikol # ufkads #wA11, Option ID :- 4219,

» Inform the head of the institution for expelling the students.

TR & gfaar &1 8l & e gg gfa #3411, Option ID :- 4220,

Answer Given:- Ignore the instance and improve his/her qualities for explaining the concept in
better way.
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I TeAT W &9 7 3H7 U4 vy (FiAy) & ey gq 3= oit # i oft af¥rer ot v @ gurR & =nfeu|,
Option ID : -4218

Question ID:- 1062

Imagining things as if they are real is known in research as

fordt Ty & aegait Pt Feur 39 ©U H HA1 fp S 98 I | Hivlg §, 99 39 U § S ST 8 2
Options:-

=Virtual reality

3yt gy, Option ID :- 4245,

=« Replication
Y=g, Option ID :- 4246,
= Reification
d¥PIUI, Option ID :- 4247,

= Simulation

S{J¥=Udl, Option ID :- 4248,
Answer Given:- Simulation

S{I=Udl, Option ID : -4248

Question ID:- 1089

During nuclear fission process, the speed of neutrons is reduced to a critical value by using following moderators:
A. Deuterium

B. Graphite

C. Monazite

D. Tritium

E. Heavy Water

Choose the correct answer from the options given below:

Tt fas uftsar & SR Fafafad de@! & WaRT §RT Hifae a9 1 o a3
A. s

B. dwTse

C. HiFTeTge

D. fefean

E. URY &t

R Re e d Fad s A

Options:-

«A, C and D only
Fad A, C 3R D, Option ID :- 4353,

=« B and E only
Fad B 3 E, Option ID :- 4354,

=« B, Cand D only
¥ad B, C 3R D, Option ID :- 4355,

« D and E only

¥ad D 3R E, Option ID :- 4356,
Answer Given:- D and E only
Fad D 3R E, Option ID : -4356

Question ID:- 1090
Given below are two statements
Statement I: Punjab University was established by a Special Act of Incorporation in 1914.

Statement II: University of Allahabad was established by a Special Act of Incorporation in 1887.

In light of the above statements, choose the most appropriate answer from the options given below
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R syRrmwE:

HYF - | : YolTq fayfaemeay 1914 # vop faiv W= sifuferaw grRY wirfta far mar un
FYA - Il : FoTEATG fayfaemerd 1887 # v fadw wwraze aififeraw gR wifia fasa war ami
IugF FUAl F srens & Pt e & 3 9a8 Suge SR A

Options:-

«Both Statement I and Statement II are correct
$YF I 3R II &1 98t &1, Option ID :- 4357,

» Both Statement I and Statement II are incorrect
$YF I 3R II S 7Tad &1, Option ID :- 4358,

= Statement I is correct but Statement II is incorrect
FY= I TE 8, f~g ®Y 11 @ 81, Option ID :- 4359,

= Statement I is incorrect but Statement II is correct

$YF I TAd §, fb=g $Y II T&! 81, Option ID :- 4360,

Answer Given:- Both Statement I and Statement II are correct
Y9 I 3R II A1 I&) &1, Option ID : -4357

Question ID:- 1085

The share of renewable energy in the energy mix of our country sought to be achieved by 2030 is now

AR 3 & St frgor & Fdftewoiia ot &1 321 2030 9% 3 fam wr fasa s § 2
Options:-

=«35%, Option ID :- 4337,

» 40%, Option ID :- 4338,

= 45%, Option ID :- 4339,

= 50%, Option ID :- 4340,
Answer Given:- 40%, Option ID : -4338

Question ID:- 1081

Given below are two statements
Statement I: In computer networking, the purpose of changing the IP addressing scheme between IPv4 and IPv6 is to allow for more IP addresses.
Statement II: A web cookie is stored on the server machine.

In light of the above statements, choose the correct answer from the options given below

Ry REME:

BY - | : LR Aeard #, g 0 4t 4 3R S f i 6 F g 31 N R G § aikad &1 32T R At g | W F Rrg srgafa IR
BUF - || : 39 P TR A § WFIa e B

Iufa FUl F e J Pl el ¥ ¥ T sw A

Options:-

:Both Statement I and Statement 1II are true
$YF I 3R II SH1 9 €1, Option ID :- 4321,

= Both Statement I and Statement II are false
PYF I 3R II ST 39 €1, Option ID :- 4322,

= Statement I is true but Statement 11 is false
YT I 9 %, ﬁvij DY II A %I, Option ID :- 4323,

» Statement I is false but Statement 1I is true

FY I 3T 7, fb=g HY= I1 T« 21, Option ID :- 4324,

Answer Given:- Statement I is true but Statement 11 is false
$Y I 99 8, ] $Y 11 39 21, Option ID : -4323

Question ID:- 1061
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Given below are two statements
Statement I: If a hypothesis is accepted when it should be rejected, then type I error is made.
Statement II: If a hypothesis is rejected when it should be accepted, then type Il error is made.

In light of the above statements, choose the most appropriate answer from the options given below

R suTRTME:

FY - | : o9 it YraheuT Bt o9 % 39 PRI WFT AR B o ©eR R fRrar S @ a9 398 <@gy - 1 3 g8 urit wrdt @1
PY - Il : 9 P WTFPeuT B TaiPp 3/ THRT SHT T 5 o 38 TR fan wimar @ a9 39¥ gy 1 3 5% urft vt 81
IuYF FUAI F e | Frafafed fAea § 4 9 IR A

Options:-

=Both Statement I and Statement II are correct
PYF I 3R II ST 98t &1, Option ID :- 4241,

» Both Statement I and Statement II are incorrect
Y I 3R II 41 Tad &1, Option ID :- 4242,

» Statement I is correct but Statement II is incorrect
$Y I Ta! B, f=g U= 11 71erd B1, Option ID :- 4243,

» Statement I is incorrect but Statement II is correct

$YF I 7Td 8, fb~g FUT II 9l 81, Option ID :- 4244,

Answer Given:- Statement I is incorrect but Statement II is correct
$YF I 7Tad 8, fb~g FU7 II ¥&! 81, Option ID : -4244

Question ID:- 1063

Selecting only those items of data that support a theoretical concept, is called

3PSt F Had I Gl BT 999 A1 511 [F el ifoe saymon o1 g0l w4 g, 98 Fgamr g -
Options:-

.Bata Selectivity

3TH ST TYATHS I, Option ID :- 4249,

» Idea preference

fa=e a¥igdn, option ID :- 4250,

= Concept choice
3y fawed, Option ID :- 4251,

=« Thesis hunting

MY - YUY Pt G BT, Option ID :- 4252,
Answer Given:- Idea preference

faar o, option ID : -4250

Question ID:- 1084

Identify the correct order of the following developments ( A-E ) in the history of computing from the oldest to the more recent:
A. Facebook

B. Internet

C. Calculator Machine

D. Computer mouse

E. Programming language

Choose the correct answer from the options given below

TR (@i & sfaer # Fafafad et (@ - $) & 98 $9 91 uri=aw @ Fd-an & »a § Rift Skt
A HUgH

B. §e¥e

C. dapacy uxfi=

D. HWER HISH
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E. WTT Wrar

A2 fau e e # J af S :

Options:-

=A, B, C, D, E, Option ID :- 4333,

=« C, B, E, A D, Option ID :- 4334,

« C, D, B, E, A Option ID :- 4335,

=« C, E, D, B, A, Option ID :- 4336,
Answer Given:- C, E, D, B, A, Option ID : -4336

Question ID:- 1070

A man travels 12 km straight towards south and then turns right and travels 15 km straight. He again turns right and travels 12 km. How far is the man
from the starting point?

TS 3meHt 12 frariier aféror &t vw der =ear & SR fhR a1 gs oirar @ 8 15 fpaiiex dien aaar 81 98 3mel T 918 3R 43 orar & 3R 12
fpariex goar 81 URMP fig A el frai g e 2

Options:-

«27 km
27 fearfier, option ID :- 4277,

= 39 km
39 fFaieR, Option ID :- 4278,

« 24 km
24 fearfier, option ID :- 4279,

= 15 km

15 fFaie, option ID :- 4280,
Answer Given:- 39 km

39 f¥aieR, Option ID : -4278

Question ID:- 1059

The symbol @ stands far

Options:-
=« Copyright

PHIURTSE, Option ID :- 4233,

= Copied Component

HIUIS HUHc, Option ID :- 4234,

= Creative Component

fepufed suiHe, option ID :- 4235,

= Creative Commons
fopufea wiu—d, Option ID :- 4236,
Answer Given:- Copyright

T , Option ID : -4233

Question ID:- 1088

The Indian Government has recently pledged to reduce the projected carbon emissions by

YRT TRHR 7 3ft 1e & AT ST IS F1 HH B & g 1 ufadgan wrars @ 2
Options:-

=1 billion tons by 2050
2050 9% 1 faferg @9 @t Hl, Option ID :- 4349,
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= 1 billion tons by 2030
2030 dF 1 faferas e &t &1, Ooption ID :- 4350,

« 2.5 billion tons by 2050
2050 9% 2.5 f3fergq @9 &t #Ht, Option ID :- 4351,

= 100 million tons by 2030

2030 9% 100 fuferaa e &t HH, Option ID :- 4352,
Answer Given:- 100 million tons by 2030

2030 9@ 100 fafera e &t $, Option ID : -4352

Question ID:- 1057

The main focus of the teacher in designing assessments should be on

T Rigie &1 geaied ftrsfara v § (s ger eam (wiew) f5a w g Tty 2
Options:-

sactivities

nfafaftral wR, option ID :- 4225,

= learning outcomes

3ferrT AN W), Option ID :- 4226,

» attendance
IufRIfd W, Option ID :- 4227,

» his/her behaviour

3I9% HagR W, Option ID :- 4228,
Answer Given:- learning outcomes
SRR gf¥HToN R, Option ID : -4226

Question ID:- 1066

Classroom communication will facilitate learners to

A. meet emotional and social needs

B. acquire scientific attitude

C. develop critical thinking

D. become independent of the community in which he lives in
E. discard the familiar patterns of social relations

Choose the correct answer from the options given below:

Fa | wuivor Rignfiat 1 fead ggraar a3 2
A. UTSITHS TS THTRIG razadbdrat 3t gfd &
B. e sfigfy yeur e &

C. eI Ria= @ faefaa 3 &

D. 39 T A Wa g #, Rred a8 war &
E. Ao Wee & uRkfra e &t geq &

R Ry e A A T ad WA ¢
Options:-

«A, B and C only
Fad A, B 3R C, Option ID :- 4261,

=« B, Cand D only
¥ad B, C 3R D, Option ID :- 4262,

« C, D and E only
¥9d C, D 3R E, Option ID :- 4263,

« A, D and E only
Fad A, D 3R E, Option ID :- 4264,
Answer Given:- B, C and D only
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¥ad B, C 3R D, Option ID : -4262

Question ID:- 1091

According to the National Education Policy (2020) all affiliated colleges would eventually transform into degree awarding autonomous colleges over a
period of

g R ife (2020) F TR fraht @l Fiem W G Haw Sicl 31 siaa: 3 @S H Tl Plel § FuiaRd S faar Se 2
Options:-

=10 years

10 T4, Option ID :- 4361,

=« 15 years
15 T4, Option ID :- 4362,

= 25 years
25 a‘Ef, Option ID :- 4363,

= 30 years

30 g, Option ID :- 4364,
Answer Given:- 15 years
15 T9, Option ID : -4362

Question ID:- 1079
Given below are two statements

Statement I: According to Classical Indian School of Logic, the method of induction is used to affirm the major premise, since generality or universality
cannot be perceived.

Statement II: Classical Indian Logicians give separate treatment of the inductive method.

In light of the above statements, choose the correct answer from the options given below

Ry REME:

FUF - | : URAT ARATT TR A & AR ST fIRr 1 7aiT vig SR a1 &1 TTAT 2 foar siran 8, i wmaeg &1 ywer 781 fosan o awar 21
FYF - 1| : YR ARATT AG1RDT 7 ST A 71 orer | Fregon fear 31

IuYF FUAl F e H, Frafaed el A A i s A

Options:-

«Both Statement I and Statement II are true
PYF I 3R II SH1 9 €1, Option ID :- 4313,

= Both Statement I and Statement II are false
PYF I 3R II ST 3/T 21, Option ID :- 4314,

= Statement I is true but Statement 11 is false
FYF I Td ¢, fobg $UT II 3T §1, Option ID :- 4315,

= Statement I is false but Statement 11 is true

$Y I 3T 7, f=g HY=T I1 T« &1, Option ID :- 4316,

Answer Given:- Both Statement I and Statement II are true
$YF I 3R II 31 I &1, Option ID : -4313

Question ID:- 1073

A person invested 1/3 of his capital at 7%; 1/4 of his capital at 8% and the remainder at 10%. If his total annual income from the investment is ¥ 561,
then what is the total investment made by the person?

TS AR 3=t Yol BT 1/3 YN 7 % BT X A, 37U Tl BT 1/4 YT 8 % BT X F 3R AW UFT 10 % P &R | 3= Hear 71 9 Az @ 391 oo anife
3T %, 561 §, d cafery g1 foba an pat AT e 82

Options:-

6600, Option ID :- 4289,
= 6500, Option ID :- 4290,
= 7000, Option ID :- 4291,
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= 5500, Option ID :- 4292,
Answer Given:- 7000, Option ID : -4291

Question ID:- 1077

Given below are two statements

Statement I: "To slow a beast, you break its limbs. To slow a nation you break its people.”- is an example of analogical argument.

Statement II: "To slow a beast, you break its limbs. To slow a nation you break its people”- is an example of nonargumentative use of analogy.

In light of the above statements, choose the correct answer from the options given below

MRy RTITE:

FYA - | : "forelt U P Hg FA & g IWF o Y s @ et Ty B Hg FA & R SHS ST 1 1S & ¢ - I8 AeaqEs g ST SR 71
muw-llé"ﬁwﬁmaﬁﬁamﬁ%mmwﬁaﬁ?ﬁsalngaﬁﬂaaﬂ%%mwmaﬁaﬁsa’n " . I8 re™ ¥ R - YRRS wgiT &1
IETER 1

Irf By F e d Fafifed Rea f A aft s -

Options:-

:Both Statement I and Statement 1I are true
PYF I 3R II ST 98t &1, Option ID :- 4305,

= Both Statement I and Statement II are false
PYF I 3R II S 7Tad &1, Option ID :- 4306,

» Statement I is true but Statement 11 is false
YA 1 W&pf %, ﬁ)TyI YA II Tdd %I, Option ID :- 4307,

» Statement I is false but Statement 11 is true

$Y I o4 8, fg FU7 11 W&l B1, Option ID :- 4308,

Answer Given:- Statement I is true but Statement II is false
HY= I T8 8, f=g Y 11 7Tad 81, Option ID : -4307

Question ID:- 1076

Which of the following fallacy is a result of defective induction?

fFrafaf@d & @ S 91 Thy TEY STTHT B1 gRomH § 2
Options:-

«Fallacy of Composition
Tged PT d& €IV, Option ID :- 4301,

» False Cause
firareruT €Y, Option ID :- 4302,

» Begging the Question
3TATYYT &V, Option ID :- 4303,
= Irrelevant Conclusion

3MRif® fAspy, Option ID :- 4304,

Ansyver Given:- Irrelevant Conclusion
, Option ID : -4304

Question ID:- 1071
Find the missing term in the series below:

0, 6, 24, 60, 120, 210, ?

2 @ % e A g v B @org
0,6 ,24 ,60 ,120 ,210 ,?

Options:-
=290, Option ID :- 4281,
= 504, Option ID :- 4282,
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= 336, Option ID :- 4283,

= 338, Option ID :- 4284,
Answer Given:- 336, Option ID : -4283

Question ID:- 1067

Which of the following are the finer points of effective listening?
A. Not observing the speaker

B. Not reflecting back on what is said

C. Staying indifferent

D. Asking questions for clarity

E. Focusing attention on what is said

Choose the correct answer from the options given below:

frafafEd & @ 9 3 gurd yaqur & siftre ofespa fig @ 2
A. 51 D] AFEYED 7 G

B. S 8T 74T §, 39 WR T: A= 7 B0

C. I &

D. Tyl & forg wy g

E. 39 TR 99 $fad &=, forad aR & wg1 T @

2 fog e fawenl # @ O S A -

Options:-

«A, B and C only
Fad A, B 3R C, Option ID :- 4265,

« B, C and D only
¥ad B, C 3R D, Option ID :- 4266,

= C, D and E only
Fad C, D 3R E, Option ID :- 4267,

« A, C and E only

Fad A, C 3R E, Option ID :- 4268,
Answer Given:- C, D and E only
¥ad C, D 3R E, Option ID : -4267

Question ID:- 1074

What can be the value of a single discount equivalent to a series discount of 10%, 15% and 25%?

10 %, 15 % 30X 25 % P oft HH Fe P I THd Fe B A T 8 FHaAT ¢ ?
Options:-

=»42.63%, Option ID :- 4293,

« 40.605 %, Option ID :- 4294,

= 35.605 %, Option ID :- 4295,

= 35.625 %, Option ID :- 4296,
Answer Given:- 42.63%, Option ID : -4293

Question ID:- 1075

In Classical Square of Opposition, if 'Some S is not P' is true then which of the following could be immediately inferred from it?
A.'Some S is P' is false

.'All S is P' is false

.'No S is P' is undetermined

. 'Some S is P' is undetermined

m O O W

.'All S is P’ is undetermined
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Choose the correct answer from the options given below:

farieil & wedia Tqde # afe $o s, P 78 814 ¥ wd @ o Frafafad & & o o sad @i (weae) s 8 aearg 2
A. PSS, PEAE T &

B.Wfts, PER ¥ Taa ¥

c. 35 it s, PTEI 81d ¢ afuffa &

D.'$S S, P B & afufka &

.t s, P B sifufRa &

2 fog e Rl 4 J aft s A :

Options:-

=A, C and E only
¥dd A, C 3R E, Option ID :- 4297,

« B, C and D only
¥ad B, C 3R D, Option ID :- 4298,

= C, D and E only
$dd C, D 3R E, Option ID :- 4299,

= A, B and C only

¥ad A, B 3T C, Option ID :- 4300,
Answer Given:- A, B and C only
Fad A, B 3R C, Option ID : -4300

m

Question ID:- 1060

The advantages of longitudinal research on the internet are

A. The internet panels are representative of the entire population.
B. Everyone has access to Internet.

C. A large number of people can be empanelled.

D. This makes it easy to collect data from the respondents.

E. Data collection over Internet can be rapid.

Choose the correct answer from the options given below:

e W orgee - MU F AU g 2

A. 3cAe TR Wyl sRien & wfafafimorers 14 2

B. Wq% UTH $eAT UST A 21

c. 331 T A @ &1 gt § Ariedra (8a) fean 5 awar 21
D. U8 UATIa) | s JART B B S S 2

E. $239C W 3P ST WU ota 7ifa & foan o1 qopan 21

R Rrai A dTH SR :

Options:-

«A, B and C only
Fad A, B 3R C, Option ID :- 4237,

« B, C and D only
¥ad B, C 3R D, Option ID :- 4238,

= C, D and E only
$9d C, D 3R E, Option ID :- 4239,

« A, D and E only

Fad A, D 3R E, Option ID :- 4240,
Answer Given:- A, D and E only
¥ad A, D 3R E, Option ID : -4240

Question ID:- 1065

The reification of stereotypes is made possible by communication through the use of
https://ntamoon23sep2022.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-297 1-460b-9691-98a128654623&Rollno=TL0120005... 14/90
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fPas ITART & TTery | THNU §RT ¢ WUl & 99 agdvl (R3fhdH =) B WUd a1 SITar @
Options:-

sSocial equivalence

IS JHdeddl, Option ID :- 4257,

» Personal attributes

Jgfaa® TUI, Option ID :- 4258,

» Language
HTYT, Option ID :- 4259,

» Ideological linearity

JuIR® 3T, Option ID :- 4260,
Answer Given:- Language

YT, Option ID : -4259

Question ID:- 1078

Given below are two statements

Statement I: Classical Indian logicians (Naiyayikas) define Upamana (Comparison) as the cognition of the new object through similarity, known by
another means of cognition.

Statement II: Naiyayikas consider upamana as a type of inductive reasoning and therefore view it as a type of inference (anumana) only.

In light of the above statements, choose the most appropriate answer from the options given below

TRAvuTRTE:

FY - | : YR AR AIRADT 7 STAH B HAHE & 37 AT gRT AT A=A & W1y F T4t avg & A9 & 0 & arenid fFar 21
PYF - |l : AUTAS] 7 STA B WTHA THUN F YHR F ¥ & AT § 3R AR 34 Fad 0 & TP TR & 7§ @ 8|

Swda wUAl F e # Frafafed el § ¥ 99 Suge IW -

Options:-

«Both Statement I and Statement II are correct
FYF I 3R II 341 I €1, Option ID :- 4309,

= Both Statement I and Statement II are incorrect
$YF I 3R II &1 Tad 21, Option ID :- 4310,

= Statement I is correct but Statement II is incorrect
HY= I e 8, fb=g Y 11 7Iad 81, Option ID :- 4311,

= Statement I is incorrect but Statement II is correct

$YF I Tad 8, fb~g FU= II 9 81, Option ID :- 4312,

Answer Given:- Statement I is incorrect but Statement II is correct
FYF I a4 8, fb=g $YF II W&l 21, Option ID : -4312

Question ID:- 1056

A student is a slow learner. What strategy can a teacher employ for him/her?

T B ¢t iy F1 ftrm Faf 81 v Rere 39 R 11 - W S F anp FR qHar g 2
Options:-

«Provide video lecture of the topic

fawg v dif$9l AR g™ $3A1, Option ID :- 4221,

= No need to facilitate him/her

39 HeE P P AMaRAPT 8] &, Option ID :- 4222,

= Tell him/her to learn on his/her own

39 Wy ¥ ¥Raq & forw did1, option ID :- 4223,

« Tell him/her to take private tuition

I felt srgfreror (eg=A) ¥ i Weme &1, Option ID :- 4224,

Answer Given:- Provide video lecture of the topic
fawg v difsyl AR S $3A1, Option ID : -4221

Question ID:- 1087
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Dioxins are produced as a byproduct of
A. Forest fires

B. Incineration of plastics

C. Chemical processing

D. Volcanic eruptions

E. Diesel fuel combustion

Choose the correct answer from the options given below:

STF3NfR FafiEad & Sulde $ FU A IUTFAT R
A. T Pt 3R

B. W &1 HRfIHor

C. TErfIE "aTed

E. v S84 g8

2 ey e Rl A A aft S :
Options:-

«A, C and D only

%9d A, C, D, Option ID :- 4345,
« B, C and D only

¥ad B, C, D, Option ID :- 4346,
« C, D and E only

¥ad C, D, E, Option ID :- 4347,

« B, C and E only

¥9d B, C, E, Option ID :- 4348,
Answer Given:- B, C and D only
¥9d B, C, D, Option ID : -4346

Question ID:- 1068

Given below are two statements
Statement I: New communication technologies have created social awareness across cultural boundaries.
Statement II: The disintegration of institutionalised centers of responsibility because of new communication technology is a hard fact.

In light of the above statements, choose the correct answer from the options given below

R pyTRTmE:

PUF - | : JUYU P T apit F Tt TRpfae Hwrsit § IRie SRR-GaT 307 &1 81
BYF - Il : TS TR MNP F FRUT IR $ RN Pgl b1 fued Te bg a4 gl
SudE Syl F et § Fafafad el A ¥ afisw A

Options:-

«Both Statement I and Statement 1II are true
PYF I 3R II ST 98t &1, Option ID :- 4269,

= Both Statement I and Statement II are false
$YF I 3R II &1 Ted 21, Option ID :- 4270,

= Statement I is true but Statement 11 is false
$Y I 9! 8, f=g HY= II 7eid 81, Option ID :- 4271,

= Statement I is false but Statement 11 is true

$YF I TAd 7, f~g Y 11 9l 21, Option ID :- 4272,

Answer Given:- Both Statement I and Statement II are true
$YF I 3R II &1 J&1 €1, Option ID : -4269

Question ID:- 1083

If you have a storage device with a capacity of 16 gigabytes, then how many 2 kilobytes files can you fit in that device? (1KB=1024 bytes)
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Tf TIPS TR 16 TN ITSC &A1 ATET HUASYT T (RS [3a189) §, 2 fhaiiarsge amar arell fha wrgel »f 59 49 & i @ @1 oI 9&dr © 2 (1 fpaiase
= 1024 915¢)

Options:-

»223, Option ID :- 4329,
« 225, Option ID :- 4330,
« 227, Option ID :- 4331,

« 229, Option ID :- 4332,
Answer Given:- 227, Option ID : -4331

Question ID:- 1082

Given below is a typical URL that identifies a web page: http://book.com/author/index.html

The hostname 'book.com’ is converted into an IP address by a server that has a database of matching names and addresses and is
queried for the address.

A v ufedt g o e fRar T € oY U A9 O @ e §
http://book.com/author/index.html

gheﬁw'book.com'wﬂﬁq@w%wﬁaﬁmmﬁm%lwaﬁvﬁﬁwaﬁv@w%gﬂmmwm@m%aﬁv@maﬂﬁam
I

Options:-

«SMTP
T T & 0, option ID :- 4325,

« FTP
TH & 0, option ID :- 4326,

= DNS
31 T4 Y, Option ID :- 4327,

« HTTP
wd & ¢t 01, Option ID :- 4328,
Answer Given:- HTTP

wa & & W, option ID : -4328

Question ID:- 1093

A Government institution recognised as an Institute of Eminence is to get additional funding of

AXHIE TR & U H Argar-yurd freft TRerst T &Y fra-t sifafvea fAftr fraeft 2
Options:-

«Rs 100 Cr
100 Eb_ag ¥, Option ID :- 4369,

= Rs 200 Cr
200 Hv‘ﬁg ¥, Option ID :- 4370,

« Rs 500 Cr
500 HIS ¥, Option ID :- 4371,

= Rs 1000 Cr
1,000 HS ¥, Option ID :- 4372,
Answer Given:- Rs 500 Cr

500 $IS ¥, Option ID : -4371

Question ID:- 1064

In the deductive method, a researcher can begin his work with which of the following options ?
A. Policy statements

B. Social identity of the researcher

C. Theoretical postulations
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D. Exploratory data

E. By deriving a hypothesis

Choose the correct answer from the options given below:

e fafy & ue <Meeat Fafefaa 3 @ 5 el & a1y om0y $1f 31 3Ry B IHar ¢ 2
A. i - FU

B. SNt 3t arfe ygar

c. difas sngamm

D. 334} 3fiwsT

E. fpft wiemeu1 & ogcaa &1 & gRI

RRym AT AT W

Options:-

«A, B and C only
Fad A, B 3R C, Option ID :- 4253,

= A, D and E only
Fad A, D 3R E, Option ID :- 4254,

=« B, D and E only
¥ad B, D 3R E, Option ID :- 4255,

=« C, D and E only

$ad C, D 3R E, Option ID :- 4256,
Answer Given:- B, D and E only
¥ad B, D 3R E, Option ID : -4255

Question ID:- 1072

Of the three numbers, the second is twice the first and is also thrice the third. If the average of the three numbers is 44, what is the largest number?

T wEmei #, gut S ugeh W 31 g1 T R st 3 A 1 o 31 3l e wemalt o oivd 44 B, FeR st Hen A W E 2
Options:-

=24, Option ID :- 4285,

= 36, Option ID :- 4286,

= 72, Option ID :- 4287,

= 96, Option ID :- 4288,
Answer Given:- 96, Option ID : -4288

Question ID:- 1069

Match List | with List Il

List | [Listn

Type of Communication ||Audience Type
A. Inter-personal ||I Fragmented
B. Organisational || Il. Anonymous
[c. Mass (. Dyadic

[D. social [Iv. 1dentifiable

Choose the correct answer from the options given below:

T - B g 1 S gaRa iR

T -l gt -l

(THIYUT & TPR) (star3 &1 TPR)
A. TR - JufFID I. GUSTED

B. HTATHS [n. 3

C. s . g

D. | |Iv. wgar av

= fog e fawent # @ wE 3wk gfAw
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Options:-

«A-I B-1II C-III D-1IV, Option ID :- 4273,

« A-II,B-1III,C-1I, D -1V, Option ID :- 4274,

«A-1V,B-1I, C-1III D - II, Option ID :- 4275,

« A-III, B-1V,C-1I, D -1, Option ID :- 4276,
Answer Given:- A-1II, B-1III, C-1I, D -1V, Option ID : -4274

Question ID:- 1086

Formation of photochemical smog involves the following
A. Carbon dioxide

B. Volatile Organic Carbon

C. Sunlight

D. Methane

E. Nitrogen dioxide

Choose the correct answer from the options given below:

HTRI IS YH - HigwT & i § Fafaf@a i@ e €
A. BT ST ATRITS

B. AIACISd M S

. 3 &1y

D. A=

E. TggISH ST% Siqarss

R e e faedi & & gt SW A

Options:-

=A, B and C only
Fad A, B 3R C, Option ID :- 4341,

« B, C and E only
¥ad B, C 3R E, Option ID :- 4342,

= A, Cand D only
¥dd A, C 3R D, Option ID :- 4343,

=« A, B and D only

Fad A, B 3R D, Option ID :- 4344,
Answer Given:- A, B and C only
¥9d A, B 3R C, Option ID : -4341

Question ID:- 1092

During the British rule who among the following said, "...our system of higher education in India is a failure; that it has sacrificed the formation of
character upon the alter of cram."

fafesr s & SRm Fafif@a & ¥ PO @1 o1, "yRa ¥ gart 3= Rien yoneh v §; 3399 351 @A 3t 3 wR afva Fafor & sf=agrdh -
Options:-

=Annie Besant

Tt fS9=, Option ID :- 4365,

= Dalhousie

Sdgiell, Option ID :- 4366,

= Curzon
Poi-, Option ID :- 4367,

= Macaulay

AP, Option ID :- 4368,

Answer Given:- Dalhousie
, Option ID : -4366
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Question ID:- 1058

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A: MOOCs have philosophy of Anyone, Anytime, Anywhere and Any number of times.
Reason R: MOOCs are 4 credit courses.

In light of the above statements, choose the most appropriate answer from the options given below

AP RTTTE : T F AMUDHYT (A) 3R W P SR (R) ST 112
MDY (A) : g § B W, oy oft o, =Y oft et o &1 oxfA FAfga e 21
PRI (R) : P 4 HISC & UISUHH 81d 81

IUdw YAl F e ®, FHifed e § § g8 SugH SW g
Options:-

«Both A and R are correct and R is the correct explanation of A

(A) 3R (R) ST TS § 3R (R), (A) P! & ARSI g1, Option ID :- 4229,

=« Both A and R are correct but R is NOT the correct explanation of A

(A) 3R (R) <Y 98 § R (R), (A) P T = 981 81, Option ID :- 4230,

= A is correct but R is not correct

(A) TE ® R (R) TE! TE) 21, Option ID :- 4231,

s A is not correct but R is correct

(A) W& g ® g (R) W& B 1, Option ID :- 4232,
Answer Given:- Both A and R are correct and R is the correct explanation of A

(A) 3R (R) SHI Tl € 3R (R), (A) F T AR g1, Option ID : -4229

Question ID:- 1080

Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R
Assertion A : Free Wi-Fi access to every citizen is one of the objectives of 'Digital India' programme of the Government of India.
Reason R : ICT is a powerful enabler of a digitally empowered society.

In light of the above statements, choose the correct answer from the options given below

TR AFERTME: T B AfGUT (A) 3R g Y FRUT (R) FT 1T 2

SRUBYA (A) : TP AN B YU aTS - TS b Ugd HRd WRPR & By TShea §i3ar & stxai A A us 21
BRI (R) : 1S At & f$freeiia T qam o1 v fawa=med! ufvamas 81

Iugad HUAl F sree § i el § § aft sw A -

Options:-

«Both A and R are true and R is the correct explanation of A

(A) 3R (R) <1 IS § 3R (R), (A) P! TE ARSI g1, Option ID :- 4317,

= Both A and R are true but R is NOT the correct explanation of A

(A) 3R (R) S T8 § W (R), (A) F W& =raT 7 21, Option ID :- 4318,

= A is true but R is false
(A) 9 8, g (R) 319 81, Option ID :- 4319,

= A is false but R is true

(A) M §, W= (R) I &1, Option ID :- 4320,
Answer Given:- A is true but R is false

(A) ¥ 8, U3 (R) 31T g1, Option ID : -4319

Subject : GP_Set2_SHIFT2_C

Question ID:- 1098
Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to
give empirical accounts of how State arose. They were attempting, rather to understand a
government's basis of legitimacy. But it is still worth thinking through whether the first states
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could have arisen through some form of explicit agreement among tribesmen to establish a
centralised authority. Thomas Hobbes lays out the basic "deal"” underlying the State: in return for
giving up the right to do whatever one pleases, the State (or Leviathan) through its monopoly of
force guarantees each citizen basic security. The State can provide other kinds of public goods as
well, like property rights, roads, currency, uniform, weights and measures, and external defence,
which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them.
Tribal societies can provide only limited public goods because of their lack of centralised authority.
So if the State arose by a social contract, we would have to posit that at some point in history, a
tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over them.
The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the
king and all his descendants. And it would have to be on the basis of consensus on the part of all of
the tribal segments, each of which had the option of simply wandering off if it did not like the deal.
It seems highly unlikely that the first State arose out of an explicit social contract if the issue
motivating it were simply economic, like the protection of property rights or the public goods.
Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are
coercive and hierarchical. This means the real driver of state formation is violence or threat of
violence.

fFafafed e o ufen ok usl &1 IR difsie -

gieT, did 3R TH! S Ao ey RIgiaer gud Ttedr 39 aR § 3gyUd 99 fAavon &1 37 3T vard =8t & 38
¥ {5 IST BT Igd A §3MTI P IO d PR DI AUAT F YR B U T I B3 T8 | dAfp g foar
FAT 3t off Suahft @ 7 @ =y I B RITTET & R SAedig d # [0y g & [P T@vu F Ao |
YW T BT S5d gl U+t G A 59 Wt o1 & SHfUSR & @R & gea § 4TAw gisd Iy Sidf-iied ga
"HHSNAT" "SI Bl TG BT 8, I (AU AU I F THIHUBR §RT UAS ANINRSG B GaAyd JR&T Bt TR
AT 81 ST e el & 370 ypRY F ot Uew #R Ted § P anie w@d § 78 v R 99d 81 9 Sufa #1
IRUBR, TSP, Y, TPIPpd der 3R ATT ; STaT &I

39S 9ed W AT IT ! H BT ARPR, WHR 10 T TH 3R 37 30! 71T arell Aol & siftradr d 81
ST AT 3P F=Hpd 6T F UG & SR AT ¥ Arde=e ffdl @ ueH 3 Iodar 1 safae afe Isa
TS Y gRT IGYd ¢ @ g9 I sfag ¥ 39 fig W WA 817, 99 T 99g A U4 SR N 3q
WDYdd AT ARARS ard) wfaal ot 5l ve safea A yamifora s &1 Aol fRman) 3o ik sad |l dxret
& fore Seedia wgE & fHafas & 30 8§ yaried STt 7 g Rirdt g ok ag ot Seedie wet & uri )
TITHT & YR TR AL 31 T o F vd® & gRT i 39 usid & Ifua =€ ue 91 R IuH J1ER 9d@ AH B
fawey Mg Tl g 3rcUd SEHTAT Uit giar @ % uyw sy felt Ty amifre srgay & aTev 3fed gU ofR 39
3t AT A T e, I 30 A e FRE & S F TulRr sfUeRY @1 WRer sryar Ardwifve fidl @1 Iudy|
ST TS GHATarSt 3R e Sa-mard sy snuta ayg g St gad sita o4 & 31l 81 39 fawdia 3w
Safis® 3N USSP 21 SHPT Haad ¢ & weu-futor &1 arafas IRe f&ar sryar f&ar &1 @ 21

The author's argument is that the first state did not emerge

AGP BT 6 & % TUH 3T BT 33U TP g & gam ar 2
Options:-

«For public good

T fgd 84, Option ID :- 4389,

=« For protection from external invasion
ST 3ATHHYT | TIEUT 3, Option ID :- 4390,

« From voluntary delegation of power

vifdT & W gxaiawur 3G, Option ID :- 4391,

= For an efficient cause
e fAf 84, Option ID :- 4392,
Answer Given:- For an efficient cause

P31a (AT g, Option ID : -4392

Question ID:- 1095

Read the given passage and answer the five questions that follow.
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Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to
give empirical accounts of how State arose. They were attempting, rather to understand a
government's basis of legitimacy. But it is still worth thinking through whether the first states
could have arisen through some form of explicit agreement among tribesmen to establish a
centralised authority. Thomas Hobbes lays out the basic "deal" underlying the State: in return for
giving up the right to do whatever one pleases, the State (or Leviathan) through its monopoly of
force guarantees each citizen basic security. The State can provide other kinds of public goods as
well, like property rights, roads, currency, uniform, weights and measures, and external defence,
which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them.
Tribal societies can provide only limited public goods because of their lack of centralised authority.
So if the State arose by a social contract, we would have to posit that at some point in history, a
tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over them.
The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the
king and all his descendants. And it would have to be on the basis of consensus on the part of all of
the tribal segments, each of which had the option of simply wandering off if it did not like the deal.
It seems highly unlikely that the first State arose out of an explicit social contract if the issue
motivating it were simply economic, like the protection of property rights or the public goods.
Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are
coercive and hierarchical. This means the real driver of state formation is violence or threat of
violence.

frafafed ey o ufen ok vyl &1 IR difvie -

gle, did 3R A I Ao ey RIGiaer Tud Tvedr 39 9R # 3gyUd o9 faavon &) 37 &1 vard =8 #= 3@
Y 5 I5T BT Igd FA AT TP TG 9 PR B IUAT & ATYR B T T YATH $R @ 41 AP g8 far
F1 Y oft SuTRT & fF o S I B RITYAT F AT TS @ # WY JHEia & [P W@eu F wrew |
YW T BT 3gd gl Uit RNt A 9 Wt 1 & ISR & @NT & gea § 4TAw gisd sy Sidf-ifed g
AT S B TG HRAT 8, 5T (AU TR I9 F THHUPR §RT YAP ANMNRSG B GaAyd JRET Bt TR
a1 81 Iy Aiduifae fRdl & o UepRY @1 Y Ued B dPd g o Amie Wy § T8 uTd R Ihd 81 9 Hufd &1
RPR, TS, YT, Thipd asi 3R ATl ; TTET &

TP ged A AT IY BI P BT AfUPR, TIPR! BTH & TH 3R 3= IS A1 arell el & AfUPR 3d 81
ST TS 39 BaiPpd 6l & AHT $ SR T SIfd Grdufe {al 1 ugM o= aoar g1 gafig afe g
IHIRIS SaY gRT SgYd g¢ of g 39 sfaery ¥ 39 fig W @A g, S SHwITdig Wgg 3 3u9 SR /M- g
WDBYES AU ARA™S ard) wferal & 5l ve safea A yarifca s &1 ol fmn wom ik sad |t dxet
¥ fore Seendia wgE & fRafes & 30 8 yamriee st 7 g Rt g 3R ag @it Seedia wet &y )
AW & YR W AL AT AT FRorad F ylds F gR1 af 39 9ugia & Ia 781 0 o1 w39 918¢ 9a o4 31
fasey g Tl g Srcd SrEHTfad Ut giaT @ % uyw vou fedt Ty amifore sray & a1ge Sfed gu efR 3a
3t AT A T e, I 39 A e FRE & S 7 TulRr fUeRY 1 W sryar Jrdwifae fial @1 Iusy|
TSI TS GHATaTdt 3R e Sa-mard sy snutRa g g <t gad sita o4 & ordY 81 399 faudia 3=
qiIs® R USHHS B 3UPT Udas g b Isa-fmiu &1 arafae e & srvar & &1 @ 81

The social contract theorists sought explanations:

[T ey RIGiaeR! gRT 39 Y Saran 1 &7 vy b
Options:-

«For the legitimacy of government
I $t YT & AT, Option ID :- 4377,

« For the emergence of the State
I & Igd & fog, Option ID :- 4378,

= To understand the need for authority
T B ATIIHAT B S P forg, Option ID :- 4379,

= To make social contract as the final cause

amETTe gaY &1 sifaw At & $u o 9 & frg, Option ID :- 4380,
Answer Given:- To understand the need for authority

TT B ATIRIH AT B U & forg, Option ID : -4379
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Question ID:- 1099

Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to
give empirical accounts of how State arose. They were attempting, rather to understand a
government's basis of legitimacy. But it is still worth thinking through whether the first states
could have arisen through some form of explicit agreement among tribesmen to establish a
centralised authority. Thomas Hobbes lays out the basic "deal"” underlying the State: in return for
giving up the right to do whatever one pleases, the State (or Leviathan) through its monopoly of
force guarantees each citizen basic security. The State can provide other kinds of public goods as
well, like property rights, roads, currency, uniform, weights and measures, and external defence,
which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them.
Tribal societies can provide only limited public goods because of their lack of centralised authority.
So if the State arose by a social contract, we would have to posit that at some point in history, a
tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over them.
The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the
king and all his descendants. And it would have to be on the basis of consensus on the part of all of
the tribal segments, each of which had the option of simply wandering off if it did not like the deal.
It seems highly unlikely that the first State arose out of an explicit social contract if the issue
motivating it were simply economic, like the protection of property rights or the public goods.
Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are
coercive and hierarchical. This means the real driver of state formation is violence or threat of
violence.

fFrafafaa e o ufee ik sl &1 IR difsre -

gieT, did 3R TH! I IS ey RIGaeR quH T5edr 39 aR § YT 99 fAavon &1 33 3T 7T =8 & 8
Y {5 ST BT Igd A AT THP ToG I PR BT AUAT b ATYR B THFA T Y4TH $R @ Y| AfpT g8 far
HAT 3t off Suahft @ 7 @ S=fta T B RTTEr & A SAedi a@ # Ty g & [P @y & A |
YW ST BT S5d gl AUt G2t & $8 W 71 & e & ©FT & 9d | Y9 gisd sy Sidf-ifed Ia
AT "SI B T BT 8, I (AFIATYT) IR TG F UHHUBR gRT TAS ANTRS Bt GAYT GI&T BT TR
AT 1 ST e 3l & 3 Y # off Uew #R Ted § P anie w@d & 78 urd % 9%d 81 9 wufa #1
RUBR, TSP, Y, THIpd dor 3 ATT ; STaT &I

U 9ed W ATIRG IT Bl B BT ARPR, IWSHR T T T 3R 37 S9! AT arell Aol & SifUsr ¢d g1
ST HTS 39 Ssiipd Idl & U & SR A1 Wfta Jrdwifae ffal &) ueH & Iodr 81 safee afe sy
AP Y GRT IGYd ¢ @ g9 I sfag™ ¥ 39 fig W WA 817, 99 T T9g A U4 SR N 7g
WDIYAS AT ARARS Tt qfaaal &1 6l vo safaa o yemiora s &1 fAofa Rmar) e ok sas @t dren
¥ fore ety & et & 30 & gy et 9 e Wil ghm 3R g 9t sedia @st & U )
I & SAMYR W TR FHT AT s | ude & gRT afe 39 9ugia & SR 78 0w 91 R 37/ 9188 9d 91 &7
fawey Mg Tl I8 Srcud SrEHTAT Ut giar @ % uyw sy faedt Ty e srgay & aTev 3fed g ofR 39
3t Afva A a1 ge, I 30 A e aRE & S F "ulRr sifUeRY &1 WRenr sryar Ardwifee fdl @1 Iudy|
ST JHTS GHarardt 3R e WReAmaret syar snenfia g & o Yad st oiF & 31dl 31 39 fauda =1
aits® 3R USHHF g1 HPT Adad ¢ & Isu-fAnior &1 arafas IR Gar sryar & &1 @ 21

What does the passage posit in the final analysis?

SR T v 3ifow fazdwor & w7 R wvar @ 2
Options:-

= The state formation is done under the shadow of violence.

Iy &1 fmfor f&an &) ufa=sar # far SiaT 81, Option ID :- 4393,

= Tribal societies voluntarily gave up their rights for limited public good.

ST FHTS 3 Wiee U e advee 9 89 o ifRieRY &1 uiken {1, option ID :- 4394,

» State formation and voluntary social contract are inseparable.

5 @1 fmtor oy Rfse i Tushar srgyamoia €1, Option ID :- 4395,

= Tribal societies always preferred a dictatorial dynasty.
ST JHTS 9 T ifiArae ardt 93 ®f addr &f 1, Option ID :- 4396,
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Answer Given:- State formation and voluntary social contract are inseparable.
Iy 1 iy i Wfese qrTfre Tushdar srguas g €1, Option ID : -4395

Question ID:- 1097
Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to
give empirical accounts of how State arose. They were attempting, rather to understand a
government's basis of legitimacy. But it is still worth thinking through whether the first states
could have arisen through some form of explicit agreement among tribesmen to establish a
centralised authority. Thomas Hobbes lays out the basic "deal” underlying the State: in return for
giving up the right to do whatever one pleases, the State (or Leviathan) through its monopoly of
force guarantees each citizen basic security. The State can provide other kinds of public goods as
well, like property rights, roads, currency, uniform, weights and measures, and external defence,
which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them.
Tribal societies can provide only limited public goods because of their lack of centralised authority.
So if the State arose by a social contract, we would have to posit that at some point in history, a
tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over them.
The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the
king and all his descendants. And it would have to be on the basis of consensus on the part of all of
the tribal segments, each of which had the option of simply wandering off if it did not like the deal.
It seems highly unlikely that the first State arose out of an explicit social contract if the issue
motivating it were simply economic, like the protection of property rights or the public goods.
Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are
coercive and hierarchical. This means the real driver of state formation is violence or threat of
violence.

fFrafafEa ey o ufee ok usl &1 IR difsie -

gl @i SR A S ATHING ey RISiaeR TyW Tl 39 IR § IgHT 99 fIavoi 3t 3 T 7T 781 & @
Y fF ST BT Igd B4 §3MTI P IO d IWHR BI AYAT P ATUYR B U T I B3 T8 4| Afp g foar
HT 3t off Iuahft @ 1 T = T B RITTET & I Sy d # [0y g & [P v F Ao |
Y T BT S5d gl Uit Gt A 79 Mt 71 & SAfUSR & @NT & gea § 4T gisd Ieg Siaf-ifed g
" "SI Bl TG BT 8, 59 (AU U Iq F THIUBR §RT UAP ANNG B Ay JR&T Bt TR
AT 31 ST i 3l & 3T YBRI Bt ff Uew B Iwd ¢ R amie wd & 78y w% 99d 81 9 wufd $1
ISR, TSP, Y, THIPpd dur 3R ATT ; STaT &I

TP ged A ATIRG I B P BT AfUPR, TWHR! BTH & TH 3R 3= ITH! A1 arent 9ol & AfUer 3 g
ST AT I9F F=Hpd T F UG & SR AT Hif¥a drde=e ffdl @1 UM $1 Iodar g1 safie afe Isa
TP Y gRT IGYd U @ 89 I 3fae™ ¥ 39 fig W IWAT 817, 99 T T4g A U4 SWR U 8q
WDYdd AT AR ard) wfaal ot 5l vo safea A yemaifoa s &1 ol fmn) wem ik sad @t deet
& fore Seerdia v & fHafas & $u 8 yamried st 7 g Rt g ok gz |t Sl wet &y )
AW & YR W AL T 4T Rrad F yld® F gRT afe I 9agid & I 781 0 9 W 39/ 9188 T4 qH $T
fawey Mg U1l I8 3rcd SrEHTAT Ut giar @ % uyw sy faedt Wy armfre srgey & aTew 3fed g¢ ofR 39
3t Afva A a1 ge, I 30 A e aRE & S F wufr sifUeRY &1 wRer siyar Ardwifae fial @1 Sudy|
ST TS GHAESt 3R e SRa-mard sy snuta ayg @ St gad sita o4 & ol 81 399 fawdia Isa
afis® 3R USIIHt® B 39PT Udad ¢ & Isu-fmior &1 arafas e f&ar srar f&ar &1 @ 81

What, according to the author, was unlikely?
IR TR & AR T R{UTRAT 4T 2
Options:-

= Tribal societies were egalitarian.

ST JHTS JHATATS! A1, Option ID :- 4385,

» Tribal societies preferred freedom to live the way they wanted.

ST TSl WaadT & agdl df d1fe 33U d3ld & ¥g TP 1, Option ID :- 4386,

= Tribal societies were close-knit kinship groups.

ST TS fde AT aYar st T9g 21, Option ID :- 4387,
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» The first state arose out of an explicit social contract for promotion of public good.
Trdo-e f3d & Meared & 1T Ty I ey & WY T BT 367 i, Option ID :- 4388,

Answer Given:- Tribal societies preferred freedom to live the way they wanted.

SIS FHIS [gaadT & g3gdr < a1fe 3 3 adies ¥ 8§ &1, Option ID : -4386

Question ID:- 1096
Read the given passage and answer the five questions that follow.

Social contract theorists like Hobbes, Locke and Rousseau were not in the first instance trying to
give empirical accounts of how State arose. They were attempting, rather to understand a
government's basis of legitimacy. But it is still worth thinking through whether the first states
could have arisen through some form of explicit agreement among tribesmen to establish a
centralised authority. Thomas Hobbes lays out the basic "deal" underlying the State: in return for
giving up the right to do whatever one pleases, the State (or Leviathan) through its monopoly of
force guarantees each citizen basic security. The State can provide other kinds of public goods as
well, like property rights, roads, currency, uniform, weights and measures, and external defence,
which citizens cannot obtain on their own.

In return, citizens give the State the right to tax, conscript, and otherwise demand things of them.
Tribal societies can provide only limited public goods because of their lack of centralised authority.
So if the State arose by a social contract, we would have to posit that at some point in history, a
tribal group decided voluntarily to delegate dictatorial powers to one individual to rule over them.
The delegation would not be temporary, as in the election of a tribal chief, but permanent, to the
king and all his descendants. And it would have to be on the basis of consensus on the part of all of
the tribal segments, each of which had the option of simply wandering off if it did not like the deal.
It seems highly unlikely that the first State arose out of an explicit social contract if the issue
motivating it were simply economic, like the protection of property rights or the public goods.
Tribal societies are egalitarian and close-knit kinship groups very free. In contrast, States are
coercive and hierarchical. This means the real driver of state formation is violence or threat of
violence.

frafafed e o ufey ok vyl &1 IR difvie -

gleg, dic 3R T I Ao ey RIGiaeR Tud Toedr 39 9R # 3gyUd -9 faavon &) 33 &1 vard =8 &= 3@
Y o I5T BT Igd P AT THP TG I PR B IUAT & ATYR HY THFA T Y4TH $R @ 4| AP g8 far
F1 oY oft ST & fF o S I B R F AT FAed @ # WY IHEiT & [P W@eu & wreaw |
YW T BT 3gd golTl Uit Gt A 9 ft v & SR & @NT & gea § 4T\ gisd ey siafifed g
"HHEET "S BI TG HRAT 8, I (AU TR IF F THHUPR §RT TAP ANMNRSG B GaAyd JRET B TR
a1 81 I e fidl & 3 UeRI &1 off ued oY Tod ¢ o ARR® Wd d T8 urd R Jobd 81 9 Hufd &1
RPR, TS, e, Thipd dei 3R ATl ; TTeT &

TP ged H AN IT B P BT AUPR, TXPR! BTH & TH 3R 3= IS A1 arell el & AfUPR 3d 81
TSI TS 3% BiPpd 6l & UG $ SR T I Grdufe {al $ deM $7 aoar g1 gafig afe g
IIIRIS SaY gRT SgYd g¢ o g 39 sfaery ¥ 39 fig W =T g, S SHwITdig Wyg A 3U SR /M g
WWIE® AT UMD ardt wfdaal # [t va safea & yamraifoa s &1 Aol o won ol swds it axen
¥ fore Seedia wgE ¥ fRafea & 30 8 yamieE SRt 7 gl Rird g 3R ag @t Seedie wet &y )
AW & YR W AL T AT Forad F yld® F gRT afe 39 9agia & Ia 781 0 o1 wR 39 916% 9 o4 3T
fawey Mg Tl g Srca SrEHTfaa Uelta giaT @ % uyw oy feht Ty arifore srgay & a1ge Sfed g ofr 39
3t AT A T e, I 30 A e FRE & S P TulRr PR o1 WRer sryar Jrdwifae fidl @1 Iudy|
ST HHTS GHATErd! 3R e Jrammaret syar snmemfvd I9g 8 S gad sita- siq & 3mdt 81 39 faudia I
qits® R USHHS B 3UPT Udad ¢ 5 Isa-fmion &1 arafae ke & srvar & &1 @ 81

The State offered each citizen basic security

I A TAF ARG B T & BT yRard fvar
Options:-

«Making the state a Leviathan

9 B T AMGGTYT §99 g4, Option ID :- 4381,

=« For the privilege of paying taxes
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PR YTaHE & fARWIIeR g, Option ID :- 4382,

=« For giving up his/her freedom

IIHT/3TD! TdaAdT BieA &g, Option ID :- 4383,

« For the right to conscript
TSR Ja1 § @ 8g, Option ID :- 4384,

Answer Given:- Making the state a Leviathan

T B TH AFGATYH §914 3G, Option ID : -4381
Subject : 28_Set2_PART_A

Question 1D:- 920
,L-J}::/}’u.?éj_/fuc;./L:HLLJZJ/;.’LUD:VL»"'
S Bl -A

elex o gl ?-B

P G-~ i-C

iy - Gl -D

_éd,cl:'ﬁd/w/}éa

Options:-

] C B

Option ID :- 3677,
B | A

Option ID :- 3678,
D s C

Option ID :- 3679,

.D,rjiB

Option ID :- 3680,

B A

Answer Given:- , Option ID : -3678

Question ID:- 933
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Options:-
A-ll | B-lI C-l D-IV
(.)ption ID :- 3729, '
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8ption ID :- 3730, '
A-lll | B-l C-IV D-l
(I)ption ID :- 3731, '
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Answer Given:-

, Option ID : -3731

Question ID:- 909
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Options:-

.ngl B

Option ID :- 3633,

. D/}l A’

Option ID :- 3634,

_ C)gl A’

Option ID :- 3635,

.D,UIC

I
Option ID :- 3636,

Answer Given:- D /"1 A, Option ID : -3634

Question 10:- 938
B PCE ST.
Uiyt s e QU B B-A
JButs el LB
Jpubs & kS ser-C
MsOlesare EALU-D

Options:-

B:

u ’

Option ID :- 3749,
D
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Option ID :- 3750,

u ’

Option ID :- 3751,

14
Option ID :- 3752,

Answer Given:- C , Option ID : -3751

Question ID:- 902

https://ntamoon23sep2022.cbtexam.in/Candidate/ResponseSheet.aspx?Urlval=fa871369-297 1-460b-9691-98a128654623&Rollno=TL0120005... 28/90



10/20/22, 6:41 PM Response Sheet

sl Al it
SIS EI - Falk-A
SEle Stk « S S-B
e J”’ ¢ 359 _M-C
S (Galke ($1E0-D
-’Zidwﬂw/ig

Options:-
B D
(.)ption ID :- 3’605,
B /4] A
;)ption ID :- 3&06,
A Jal &

14
Option ID :- 3607,

A /8| D
Option ID :- 3’608,

BJ}'A

Answer Given:- , Option ID : -3606

Question ID:- 870

S SUlUA P e Ut o

Options:-

S

I
Option ID :- 3477,

o

Option ID :- 3478,
, F
| »
a/'c L
-
n ’
Option ID :- 3479,
- - o~
JL' Jid
u ’
Option ID :- 3480,
"0
)
Answer Given:- , Option ID : -3478
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Option ID :- 3611,
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C 8] B’
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Answer Given:-

A QY & I yrEA
B AL Il =
C Jsuts 1l e Ll
D Mesb IV W pA”
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